Integers Round Robin—Round 1:  Dividing Integers	
 (
5
.
  81 ÷ -9 = 
6.  
– 34 ÷ (-2) = 
7. 
99 ÷ -11 = 
8. 
150 ÷ - 25 =  
)Solve neatly in pencil, circle your answers, and show your work!
1. -25 ÷ 5 = 			

2.   100 ÷ (- 10) = 

3.  -144 ÷ (-12) = 

4.  -36 ÷ 6 =  
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Integers Round Robin—Round 2:  Multiplying with Integers
Solve neatly in pencil, circle your answers, and show your work!
1.   5 x -7 =
2.  -8 x -3 =
3.  -3 x -6 =
4.   4 x -10 =
5.  -7 x -7 =
6.  12 x -12 =
7.  -11 x 3 =
8.  -9 x -9 = 
9.   6 x –3 = 
10.  6 x – 7 =
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Integers Round Robin —Round 3:  Adding Integers
Solve neatly in pencil, circle your answers, and show your work!
 (
 
      
          
 
(-4) 
+
 6 
=                          
          
14 
+ (-
21
)
 =
                    
3 
+
 (-9) = 
                      
          
 -5 
+
 (-9) =
                    5 
+
 (-5) =                         
         
 0 
+
 
(-
10
)
 =
                   -13 
+
 8 =                          
          
 8 
+
 
(-
4
)
 =
                   6 
+
 (-2) =                          
         -
15 
+ 
20 =
                  10 
+
 
(-
12
)
 =
                                
10 
+
 (-10) =
)












Integers Round Robin —Round 3:  Adding Integers
Solve neatly in pencil, circle your answers, and show your work!

                 (-4) + 6 =                                      14 + (-21) =
                    3 + (-9) =                                    -5 + (-9) =
                    5 + (-5) =                                    0 + (-10) =
                   -13 + 8 =                                      8 + (-4) =
                   6 + (-2) =                                    -15 + 20 =
                  10 + (-12) =                                 10 + (-10) =



Integers Round Robin —Round 4:  Subtracting Integers
 (
                   
(-4) – 6 
=                                   14 – 21 =
                    
3 – (-9) = 
                                 -5 – (-9) =
                    5 – (-5) =                                   0 – 10 =
                   -13 – 8 =                                     8 – 4 =
                   6 – (-2) =                                    15 – 20 =
                  10 – 12 =                                    10 – (-10) =
)Solve neatly in pencil, circle your answers, and show your work!
1. 
















Integers Round Robin —Round 4:  Subtracting Integers
Solve neatly in pencil, circle your answers, and show your work!

                      (-4) – 6 =                                       14 – 21 =
                      3 – (-9) =                                      -5 – (-9) =
                      5 – (-5) =                                       0 – 10 =
                     -13 – 8 =                                        8 – 4 =
                       6 – (-2) =                                     15 – 20 =
                      10 – 12 =                                     10 – (-10) =



Integers Round Robin —Round 5:  Absolute Value
Solve neatly in pencil, circle your answers, and show your work!

1.  |-8| + |9| =


2. | 2 + -4| =

3. |3 – 6| =

4. |22| + |-21| =


5. |-4 + -4| =


6. |-5 + 1| =


7. |32| + |-4| = 

  
Integers Round Robin —Round 5:  Absolute Value
Solve neatly in pencil, circle your answers, and show your work!

1.  (
5. 
|-4 + -4| =
|-5 + 1| =
|32| + |-4| = 
)|-8| + |9| =


2. | 2 + -4| =

3. |3 – 6| =

4. |22| + |-21| =

Integers Round Robin —Round 6:  Word Problems
 (
3) 
BUSES 
Melanie, Byron, and Chin are all
waiting
 at the bus stop. Melanie’s bus
leaves
 at 10 minutes after noon.
Byron’s bus leaves at 15 minutes before
noon
. Chin’s bus leaves at 5 after noon.
Arrange the three according to who will
leave
 the bus stop first.
)Solve neatly in pencil using QDAWG, circle your answers, and show your work!
1) SCIENCE For each kilometer above
Earth’s surface, the temperature
decreases 7_C. If the temperature at
Earth’s surface is _8_, what will be
the temperature 7 kilometers above
the surface?
2) BASKETBALL During a high school
basketball game, the home team scored
51 points and the opponents scored 62
points. What is the point differential
(the difference between the number of
points scored by a team and its
opponent) for the home team?
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